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4. The points P and Q are on the curve y = x The value of x at P is -2 and the value of x at Qis
3: Find the equation of (i) the tangent to the curve at P, (ii) the normal to the curve at 0. The
tangent at P meets the y-axis at 4 and the normal at Q meets the y-axis at B Fmd the distance
AB. (N96/P1/3) - :

2. Find the gradient of the curve y = x* + 2 at the point P(2 16). The tangent to the curve at P
meets the x-axis at 4 and the y-axis at B Calculate the area of the trxangle AOB, where O is
the origin. (J97/P1/4) . :

3. The gradient at any pomt ona partxcular curve is glven by the expression x*+ L where x >
0. Given that the curve passes through the point P(4, 18), find (i) the equation of the normal
to the curve at-P, (ii) the equation of the curve. Find the coordinates of the point on the curve
when the gradient is a minimum and calculate this minimum value. (N97/P1/12)

4, A-curve has the equation y*x* = 72. Show thata = E and hence, or otherwise, find the
equation of the normal to the curve at the point where y = 3. (J 97/P2/6b) ‘

¢. A curve has the equation y = —-. Find an expression for . Hence find (i) the equation of

the normal to the curve at the pomt where x. = 2, (ii) the approx1mate mcrease inyasx
increases from 2 to 2 + p, where p is small. (N98/P1/4) :

Find the equation of the tangent to the curve y* = x + 6x at the point (2, 6). (N98/P2/6b)
_ Fmd the value of the constant ¢ for which the line 3y =x+ cis a normal to the curve :
y=x'—x+3. (I199/P1/10)
. The equation of a curve is y = 352 — kot + 2, where k is a constant. The tangent to the curve, at
- the point where x = 2, passes through (5, 5). Find the value of £. (J99/P1/ 12b)

The gradient at any point (x, ) on a particular curve is given by =1 ts L The equation of

aago*

S

the tangent at the point P on the curve. is y = 3x+ 1. Given that the x- coordmate of P is
positive, find (i) the coordinates of P, (ii) the equation of the curve. (NOS/P1/T)

\0. Find the equation of the tangent to the curve y = yx% — 6x + 25 at the point (0, 5).
(N99/P2/6b) '




() y+dx+4=0

(i) 6y+x-57=0; 4B =13+ units
2. —2; 100 units? '
2. () 17y+x=310

(i) 3xy=x'-48+2x

(2, 8), 8
4. 9y—4x=19

@ 12
S m= (1-2x)

(i) 4y+3x+2=0
(ii) Approximate increase in y = %p
. 15x—4y=6
3. ¢c=16
g, k=9
a. @) (3,2%)
() y=x—o+3
\0+ 5y +3x=25




